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home=input( ' ;58 A &£+ "

print('hello’,home)
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a=int(input ("5
b=int(input(”
c=int(input (" ;55
pr 1 r-,t{ " "' ¥
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time
a=time.time()
print(2**500000)

N TRTEERFE 0.34072279930114746




x=float (input (" &8 AZ5"))

y=(x/2.54)

A=int(y/12)
Z=(((float(y/12)-A))*12)

p rint |: . _— = " _'IA_'I xx ..-..::\-.II.IJ , "o III.-'.r.- }
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x=int [: in p ut ( g
F:iﬂt{iﬂput(
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km=float(input (" ;&%

km<1.5:
pPint(”%ﬁ%E?@ff”)

fee—?5+float((km 1. 5)/@ 25)*5
print("#EEZ5Z",fee, " ")
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seat_number=int(input( ;58 {485 "))

print("Z75725: ", int(seat_number/5-08.1+1))
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can=float(input(':Z85 A &#"))
dozen=(can//12)
print(’ 44745 %: ' ,dozen*200+(can%12)*20))|
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a=int(input( ' 58y A AE552 "))

a<oe:

print( " Z48/50")

print('Z&55", (a-60)//45+1)
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a=int(input(’,
b=int(input(’,
c=int(input(’,

d=int(input(’
e=int(input(’
f=int(input("’
g=int(input("’
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a=int(input(’,
b=int{input("’,
c=int({input(’,
a+b>c
print( ' o7ffel = &FE"

print(’#E;
0s
.system( "pause™)

A=A =R

S A=A =8
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A=float(input(’,
B=float(input(’,
A>B:
print("AA£7B")
A<B:
print("A/\FB")
A==B:
print("AZE7B")
0s
.system( "pause™)
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a=float(input(’
b=float(input(’
c=float(input(’
a>b a»c:
print(’ &z
bra

os.system( "pause™)
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a=float ( in P ut E '.;’

d<2
print( " L4,

a<ll:

print( ' £¥4:553" ,a*100%0.
a<20:
print( ' #5553 ,a%¥100%0.7)

print( 5553 ,a*100%0.6)
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a=float(input( %
1<=a<=10:
print( ‘£,

11<=a<=
print(’ 25" ,a%9.45-21)

print{’ 2 A5 ,a%¥11.55-84)
51<=a:
print(’ £ 123" ,a%12.0875-110.25)
0s
os.system( 'pause )
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A=float(input(’'3
A<60:

print(’
70>A>=60:
print(’
20>A>=70:
print('Z%.")
90>A>=80:
print('FHE.")
188:>A> :
print(’

0s

tem( 'pause )
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FH{E=1int(input(’
=int(input(’

5 Um==g

1
sum=sum+i
print(’'i/’,1,

A

TR RETME

{H=int(input(’

2, sum)
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sum==8
i range(0,200,7):
SuUm=1+sum
print{sum)
0s
os.system( 'pause’)
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n=1int I: in P ut [: ”_ .. n?" ]' ]'
sum=1
i range(1,n+1):

sum=
print( "njEE 5",

0s
os.system( "pause )
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n=int(input())
sum=g
i range(l,n+1):
sum=1i*i+sum
print{sum)
0%
.system( 'pause ')
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n=1
5 Um==¢

sum<=100@ :
sum=sum+n**2
print{n,sum)
n+=1

0s

stem( “pause™)
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I
random
n=e

n!=6:

n=random.randint(1,6)
print(n)

HITEER

26




H ¢ 57 P EIEA
FE2HS -

a=int(input(’' ;&85 {nE?"))

sum=~e
i range(1,a+1):

n=1/(i**2)
SUM=SUM+N
print(’E7 45", sum)
0s
os.system( "pause™)
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SUmM< =
sumk 2 sum&5==1
print(sum)
sum+=1

$ﬂ T4

sum=1

sum#i/==41:
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n=1
sum=8

sum=sum+n**3
print(n,sum)
n+=1

0s
0s.system( "pause™)
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i range(1,6):
j range(1,1+1):

pl"iﬂ't{ "y ”_,E'l"ld=””)
print()
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s um=e
1 range(1,1001):
i% 7 == 0:

1 % 21==0:

Sum=sum+i
print({sum)
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range(1,20):
Jj range(1,20):
pr‘int(i: ”:*:”Jj'-’ ”_
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1 range(2, 1001):
sum = @
J range(l, 1):
1%] == @:
sum += j
sum == 1:

print("1000 (A= £ BB ", 1)
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range(1,6):
move=round(a-1)
print(f’' "*move,end=""
print('*"*1)
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1 ==j:
print('1’,end="")
print('@’,end="")

J=3+1
print()
1=i+1
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random

(i<3):

n=random.randint(1,6)
n==1:
i+=1
print(n)

HITEER

36




H 71 R
Ev R

ﬂ:[ﬁ]*l@
max==

random
i range(10):

A[i]=random.randint(0,108)
print(A[1])
A[i]>max:

F: ", max)
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A=[@]*40
tfail=0

random
i range (40):

A[i]=random.randint(@,108)
print(A[i],end=" ")
A[i]<60:
fail=fail+l
print()
print("-F 24
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random
score = [[@]*3
i
print

'| rang

score[1][

pllnt(bCDrP
print("

%ﬁ TR
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‘B.3+score[1][1]*0.
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random
A=[[@]*3for i
B=[[@]*3for

j Pangeiﬂ}:

B[1][j]=A[]J]1[1]

print(B[1][j],"",end="")
print()
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F(x):
(x==1):
result=1

result=x+f(x-1)
result
n=int{input (" k1~n/F/ Ty
print (" I~nF/EE 5

os
.system( 'pause’)
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ged (A,B):
B != @:
temp = B
B=A%B
A = temp
print( "AEBiEE AL NAE

A=int{(input("”;
B=int I: in put |:

gcd (A,B)
0s
tem( "pause™)
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a=input("Z58 A
int(a[1])
print(”#is

500 A — (05587 5% ? N226865827
e
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a= 1 n t ( 1 n [:' u t [: r.::: " Il'fl = :'-J Iy

a®x 3 ==0:
[__.l r j_ n _t ( a s ] -_|:_]: ) :.. A _.-._..I.:__-I N
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max(a,b,c):
a»b arc:
print(a)
b>a b>c:
print(b)

print(c)

a=int(input(’,
b=int(input(’
c=int({input(’,
max(a,b,c)

0s
os.system( "pause™)
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fF(x):
(x==1):
result=1

result=x+f(x-1)
result

n=int(input (" 2E1~nFyiEE
print( "1~nFY '
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RS

f(" » A, B, C}:
n==:

print("&#% 1 from",A

f(n-1, A, C, B)
print(", ,n, "from"”,A, "to’
f(n-1, C, B, A)

A','B",'C’)
$}T{ \\\[:[ :

from
from

from
from
from

from

from
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s=input(’ 5585 A

s=s.strip(’. ")
s=s.split(’' ')
print(s[::-1])
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T

SHT A —{TH9L 38?1 am a beautiful girl

['girl’, 'beautiful’, "a’, 'am’, 'I']
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, Fiona', 'Claire’, 'Ben’, 'Bill"'])

~v','Tina’, 'Fiena', 'Claire’, '"Eva’, 'Ben', 'Bill", 'Bert'])

"Fiona', 'Claire', 'Eva’', "Ben'])

)y .
FTEER
{'Claire’, "Mary', 'Fiona’,
{'Bert’, "John', 'Tina’, 'Bill'}

{"John', 'Bill"}

49




A H ¢ 10-3 $d

RN

a=set('4/ T4 55
F-=set(alb)
+.remove(' ")
F.remove( '

print ()
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mail=dict()
a=input(’
mail[a]=in
a=input(’
mail[a]=inp
a=input(’
mail[a]=in

a=input({’ 3

#1?John
| A B TE{F ? john@xood . tw
s Ak ?Clarie
EETE 2 Clarie@oo. tw
¥ ?fiona

=H e A E5 T2 Lona@oac . tw

H T A S TFEMEE ¥ fiona
tiona@xxx.tw
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a=float(input("3
b=float(input(

print(“a+b=",a+b)
print(“a-b=",a-b)
print(“a*b=",a*b)
print("a/b=",a/b)

HITEER

||F,[ Jiﬁ I\.§Ta =5

nFﬂ ﬁj J\E%Tt) =6

at+b= 11.0
a-b= -1.0
a*b= 30.0
a/b= 0.8333333333333334
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base=float(input( ' ;&8 AL L="))

high=float(input ZE="Y)

print ("’ =AFETRES,
B TAE SR

o i A\ JE =10

ﬁﬁ%ﬁﬁﬁfﬁxFégjggzzs
=fAiFEfERE 25.0 i

base*high/2, ' =7

2
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A A ZE LG FE#=65
HEICE 8= 18.333333333333332
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income=int(input("”;
income <= 6%

tax=income*@ .05

income <= 1216

tax=1ncome*@.4-829600

print (" ", int(tax+0.5))
0s
os.system( "pause™)
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degree=int{input(”

egree-330)*3.6+110%2.1+220%2.7

" int(fee+0.5))

.system( "pause™)

il
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n=int(input("s5# A —EEEN="))
sum==0

i range(1l,n+1,2):

sum +=1

print({“1+3+5+...+N=",sum)

0s
os.system( “pause™)

I TEER -
i A — I BIN=100

1+3+5+...+N= 2500
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a=int(input (" 5@
h:j.rlt ( j_r‘l I:I u-t ( ”_I.'
K:aﬂ::h

b I= 0:
temp = b
b=a%hb
a = temp

05
0s5. SF S'tEfT] ( ”Iﬂ ause " }

TG
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for 1 in range(1,10):
for j in range(1,10):
print('{:>4}"'.format(str(i*j)),end=""
print()

import os
os.system( "pause™)
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s = 1

m =
multi
hile mu
m =
prin
if m

y +=

H dF f

oat(input(’ £ ="))/100

1ti <= 10@:
m* (1 + ins)
t("3h",y, "4 ",m)

>= multi

print(” ', int(m),
multi += 1

1

1.1825
1.1576256

1.2762815625000004
1.34080956486250004
1.4871084226562585
1.477455443789063
1.5513282159785162
1.6288846267774432
1.7183393581163142
1.79585632602213
1.8856491423232367
. _L;?le.; 1 LjL‘Lﬂ_:’Cj:‘L‘Ib7
?qubl?qdll 1688

LR AL AR AR

10 £
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FE2(H5

ch = [[8]*5 for

tmp >= m[1]:

tmp =
C=cC

ch[i][]]

prlnt(m[1]
print()

import os
os.system( "pause™)

B TEER

519 Fife&s

tmp - m[j]

+ 1

14500 7C*11H, 100, -0, 18 7T *efd, 57t *efl, Lt *2(H,
(15500771, 10077 *0(H, 107T*efH , 57T *efH, 17T*3{H,
#4500 7T *11[H , 1007 eflH, 10T *e{H, STr*efE, Lir+4fd,
45007 * 1, 100 7C*0f[H, 1077 *0fld, STT*1{E, 17T *efH,
45007 * 1, 100 7C*0f[H, 1077 *0fld, 57T *1{E, 17T *1{H,
£45007T*11[H , 100 7T *efl , 1077 *e{H, ST*1{E, 1iT*2{H,
(15500771, 10077 *0(H, 107T*efH , 57T *1{H, 17T*3(H,
1550077 *11[H , 100 7T *efli, 10T *e{, STC*1{E, LiT+4fH,
y5007C*1[H, 1007 *0f[H, 1077 %118 , 57T *efl, 17T *efH,
y5007* 1, 1007 *0f[H, 1077 *1{l , 57T *efl, 17T *1{HE,
}45007T *1{[H , 100 7T *0([ , 107T*1{H , STC*efE, Lt *2{H,
 155007T*11[ , 100 7T *0f[ , 10T * 1l , STC*efE, 17t *31H,
}45007T*1{[ , 1007C*e([ , 107T*1{H , STC*efE, Lt +4AfE,

y5007* 1, 1007 *0f[H, 1077 *1{l , 57T *1{H, 17T *e(H,
y5007C* 11, 100 - *0f[H, 107 * 1l , 57T *1{H, 17T *1{HE,
}45007T*1([H , 1007T*efl , 107T* 1l , STC*1{HE, LT *2f|,
007711, 1007 *0{H, 1077 *1{H, 570*11H, 17T*3(M,
07T * 11l , 1007T*OflH , 107T* 11, 57T*1{E, 1T *AM,

oy

,ch[1]1[]], ° " sep="",end=
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0s
b(m,n):
m==0:

A=int{input(’
B=int{input(
print(f’'{A}
DE.SVStem('ﬂHUSE'}
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FEZ U

time
f(n , A, C, B):
n==1:
print(A, "--

pr lrnt[ﬁn
f(n 1, EJ

n= 1nt(1nput(

start=time.time()
'I:EI-I f.f F—f fo"}
end= tlmP.tlmP(}

,end-start)
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)

)i

FEzU

1nt(1nput(

i ﬂ[l'-':"[:]. '|+1]'

j range(10- 1]'
print(10-1i,end="
print()

1 range(10-n+1,10):
J range(i):
print(i,end="")

print()

os
stem( "pause”)

38888888
Tr77777
38888888
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tilename=input(’

range(@,26]
print(char2[i], 'or’, charl[i],’ - ',s.count(charl[i]}+s.count(char2[i]))

0s
os.system( “pause™)
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